EARAROBREBRT —5 XN—ZXBISH—F

2024578288 (BH) 8EHAESH

R -

‘(fﬁ} W ‘I%EH?’JFE‘?] I

[AE%] 15 :450,000 ~ 275:144,000 W  3%&:81,000H  47%&:54,000H  57&:36,000H

IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
on < [P . - . - WHREe (E8)
1l8liolEvoIFvY 4 E%s R I R VO mew
R:€r/0704 B:7I4=F« B %5
Sy ' B 4 | REEY} 55.6 6-5 36.6| — 6 456 | SMNEEAN (ER)
2 2 Ty hfFv T 54.0 21/2) w3 |LRAE
R:d=ILRY v B:RA Ry vO—F EvIULy RIT7—L
< = horsEFres - . - JIEBZEF (58)
3N 4 | YURILAO—5 5% (535/'47) w2 : (5_021) ABHE
RiPAUAYRA NUFY N B:Y3v/h—3 JIIYA 1T 7 — L%
S~ ol EF . - . - FULRE (E8)
415|5 YV3AvFay 4 ¥53.0 ?35/43 56 .8 : (4_474) BERE B
R:STU=F4 B:TU—rBr54X BAKIS
s < = O . - . - KEEK (EB)
507/ 8| Y397 YIT52 R e A Y5 |uEms
RIARASKR=Z—9 B:Yavrv7)Lv— R
N HKIBA . - . - 8 467 | DIIBH ()
6|1]1]EYTLYIR R 0 & o iy |
R:ZTvF—TA) B:OVASY =YV T7—L
» % 5 | Hehe 56.2 10-9 (363 — | 10 | a0 |BE—-X (&)
7 6| 7UES 54.0 a1/2 45) | BERE
R:VvRAI99TA B:7AE— REHIS
4 5 FUES 56.3 7= 37.3 - 7 450 | FEBT (E8)
81811 NAAUA 54.0 (172) 10 |=EEE
R:I—ILRI—-X #&:>5—ROFI+> N L3805
S 4 6 [TNEEES= 56.5 9-10 36.7 - 9 a4 | RB2E (IE8)
9 7182 v .0 (1 1/4) @) |BHTE
R:O—IVJUY 8:N\OvISAY #HET7—L
HhEA . - . - 5 557 Si5F (I£8)
R:AN/UFv—R B:eFR—)L BN
<~ amat - - - WEF (E8)
x| 7|9 gV IR "7 A53.0 G B B :1; T%éﬁii%
RiXAVIVYLYY BAXA(Y3aDALY BHEKS
® 11— —&BIEfI
13—7—
20—F—
33—+ — 10,4,8,1,3,2,11,5,7,6,9
AT=5r= 10,4,1,8,2,5,11,3,6,7
0 ILRE
BB 10 310M JA R 2-10 1,180M3 e B 2-8 2,010H 3EE 2-4-10 3,950
B B 10 110/ 4-10 400 5 & 2-10 3,460 3EH 10-2-4 32,760
2 250 2-4 920/ B8 10-2 5,980M
4 200

ABIC OV TRUTEREERRODDZE. THRIIZEL.




